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TEHEE +12VDC VCC+5%, LUk <20mV
BRI BENER <500mA 4 E]<90s, +25°C
RSER <200mA FH42 Y <600s, +25°C
FRARIR 10.000MHz
LRl I 1E3%E (sinewave) 1%k 50Q, Load+5%
A ESINE 9+2dBm A%k 500, Load+5%
K <-40dBc 1%k 50Q, Load+5%
FE <-80dBc
HBAE, +25°C,
HIE 5 EHRE <+0.1ppm
EFC=+2.5+0.1V
i E IR E E <+0.5ppb -20—+70°C Ref+25°C
BENERRER <+0.2ppb VCC+5%
MR REE <+0.2ppb Load+5%
SCHASAR AT <2.0E-13@1s HAEME, fIRTTE
= +0.1ppb/day
ZE 18 6 B 8] >24h
WMERRBEE <+10ppb/year
1Hz <-118dBc/Hz
10Hz = -142dBc/Hz
N 100Hz <-155dBc/Hz
1KHz = -158dBc/Hz
> 10KHz <-160dBc/Hz
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-50.0
-60.0 Noise Marker (Hz)  dBc/Hz
-70.0
-80.0 0.1 Hz -91.2
. 1Hz -120.2
4£§ 10 Hz —149.4
. 100 Hz -159.9
-110.0 — 1 kHz -159.7
-120.0 10 kHz -160.1
-130.0 100 kHz -160.2
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1E-11
Tau Sigma(Tau)
1s 1.48E-13
2s 1.52E-13
4s 1.53E-13
8s 1.64E-13
10s 1.69E-13
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T I I 40s 2.58E-13
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